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1. Fail Case
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1.2 Case #2

1.3 Case #3
1.4 Case #4




1.1 Case #1
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1.2 Case #2
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1.3 Case #3
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1.4 Case #4
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2. Answer@

2.1 Case #1 (55 A|7)
2.2 Case #2 (Thj 22| E&)
2.3 Case #3 (¥H& 55)

2.4 Case #4 (THof A] 2 H=Z)




2.1

Case #1 (BZ #]|7

primtf(

»

p_num = @;
p_num = rr[index - 1].guantity;
>s_arr[i - 1].quantity = 0;
otal price -= ( -»s_arr[index - 1].price
s_arr[index - 1].quantity += p_num;
sale_display );

* p_num);




2.1 Case #1
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2.1 Case #1 (5= #|A
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2.2 Case #2 (Ytof 22| E&

init arr(
init_stock_info(&stock info);

make stock file(&stock info, year, month, day);
sale list file(&sale info, year, month, day, hour, min);
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b Sreofd main.c C Source
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b e [ screen_display.c 2017-11-08 2 C Source
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2.3 Case #3 (BF& S &)
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2.4 Case #4 (Th}l] A] 22 B =)
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2.4 Case #4 (Xh] A] Ao B=
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3.1 result (O
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3.1 result (0_000)

Id
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3.2 result(1_000)
e omtes

1_000_000 HIRE 001 Y tXE©01)7F =7t

1.000_001 HEE 010 23 oro|23(010)7F =7t

1_000_002 HZE 011 23 2t(011)0] =7¢

1_000_003 HFEE= 100 2 =(100)0] =7t

1_000_004 HIRE 101 Y& 2t3(101)0] F=7¢

1_000_005 HIEE 110 23 SE4(110)0] F7}
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1_000_008 HIEE 001 23 = 001 243 3tXHO01) 7} 27 F=7HEICE
o e |

1_000_000 Passed

1_000_001 Passed

1_000_002 Passed

1_000_003 Passed

1_000_004 Passed

1_000_005 Passed

1_000_006 Passed

1_000_007 Passed

1.000_008 Passed



3.2 result(1_001 ~ 1_002)
I
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3.2 result(1_004 ~1_.010)
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3.2 result(1_004 ~ 1_010)

Id Result
1_004_000 Passed
1_005_000 Passed
1_006_000 Passed
1_007_000 Passed
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1_009_000 Passed

1_010_000 Passed
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2_000 ~ 2_001

3.3 result (

Output (Expected)
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3.3 result (2_002 ~ 2_006)
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3.3 result (2_002 ~ 2_006)

Id Result
2_002_000 Passed
2_002_001 Passed
2_003_000 Passed
2_003_001 Passed
2_004_000 Passed
2_005_000 Passed

2_006_000 Passed



3.4 result (3_000 ~ 3_004)

3_000_000
3_000_001
3_001_000
3_001_001

3_002_000

3_002_001

3_003_000
3_003_001

3_004_000

atxhoon)el 1 E 987HE HHE 1 otF
= 7||:}a||:f

(3&)0l 2oz

1_000_0062| AEfO|A EO{E St SHF(3
£ 7|CtEIct

20| HoiZ of
IRHO01)2| K|S 9872 W=D B
= 7|chaict

1_.000_0062| AfEHOf|A{ O}
£ 7|Ct2IC

32)0| §0{Z

i
iy
k
iy
4

(3:)0| FoiZ

)0 JQI'-WI o 2kXk001)2] xH 12
% ZCH 7|30 XD =HolS Sho.

SH2(33)0] X|LE7| F0fl 1.000_0062| EHO|A EHOHE St

1 Mg ZCh 7|1 X1 Tl Bt

0
i
H

o
rH
=

22| ohol o Mz M2 gt

0
i
H

o
rH
=

22| ohol o Mz M2 4Gt

0z
O
E_|
ne
|0

| 2E ME2 100712 X7|3}stCt

t

0>
o
El

te

I

DE ME2 100702 X7|3}stCt

A BpHO| D MEJF SHE| D stock YYYYMMDD.txtI}

L2 0|83 M HEE E=sict &Y 0 JEO| 22
WOI Xj 0= 987 O OF L},

N =tHof| D HETt *E4E|1 stock_YYYYMMDD.txtI}

A2 0|2 M MEE =33 = 10 MEO0o|E2

M“C’I 2= 997K 0 OF ShC,

=7hSoHOF St

rOI-

=7hSoHOF SHLY.

—

Mo = gy

2R YYYY.MM.DD.hh.mm (4.2.2.AL8)

4&. 7L Ho

CE R !




3.4 result (3_000 ~ 3_004)

Id Result
3_.000_000 Passed
3_000_001 Passed
3_.001_000 Passed
3_001_001 Passed
3_.002_000 Passed
3_002_001 Passed
3_.003_000 Passed
3_003_001 Passed

3_004_000 Passed



3.5 result (4_000 ~ 4_004)
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3.5 result (4_000 ~ 4_004)

Id Result
4 000_000 Passed
4 001_000 Passed
4 001_001 Passed
4 001_002 Passed
4 002_000 Passed
4 003_000 Passed
4_003_001 Passed
4_003_002 Passed
4 003_003 Passed
4 004_000 Passed

4_004_001 Passed
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